
■ 次の9つの値のレンジ(範囲)をそれぞれ答えなさい。

10.5 8.7 9.1

16.3

201 162 188

188 231 153

10.6 8.3 7.6

138 191 225

14.6 14.4

234 215 209

253 180 242

14.5

レンジ(範囲)

レンジ(範囲)

15.3 8.6 13.1

12.7 12 14.3

レンジ(範囲)

⑥

⑤

⑦

252235281

②

③

④ ⑧

10.2 13.1 13.2

124 276 248

277 384 198

9.9 10.5 7.8

レンジ(範囲)

9.2 7.6 7.1

①
301 244 212

245 213 240

306 296 205

レンジ(範囲)

レンジ(範囲)

227 245 291

12.3 14.7

14.5 14.6 16.5

レンジ(範囲)

レンジ(範囲)

8.2 8.9 8.9
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■ 次の9つの値のレンジ(範囲)をそれぞれ答えなさい。

213 240

①

②
9.2 7.6 7.1

10.5 8.7 9.1

最大値 : 306

最小値 : 205

306－205＝101

③
138 191 225

201 162 188

10.6 8.3 7.6

最大値 : 10.6

最小値 : 7.1

10.6－7.1＝3.5

最小値 : 12.3

16.5－12.3＝4.2

④
14.5 14.6 16.5

14.6 14.4 14.5

レンジ(範囲)

101

⑤
234 215

16.3 12.3 14.7

最大値 : 16.5

188 231 153

最大値 : 231

最小値 : 138

231－138＝93

306 296 205

101

レンジ(範囲)

301 244 212

245

209

253 180 242

281 235 252

最大値 : 281

最小値 : 180

9.9 10.5 7.8

最大値 : 10.5

最小値 : 6.6

10.5－6.6＝3.9

281－180＝101

⑥
8.2 8.9 8.9

9.6 6.6 10

14.3

277 384 198

最大値 : 384

最小値 : 124

384－124＝260

⑦
227 245 291

124 276 248

レンジ(範囲)

3.9

レンジ(範囲)

260

レンジ(範囲)

6.7

レンジ(範囲)

3.5

レンジ(範囲)

93

レンジ(範囲)

4.2

10.2 13.1 13.2

最大値 : 15.3

最小値 : 8.6

15.3－8.6＝6.7

⑧
15.3 8.6 13.1

12.7 12
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